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1. A set of guidelines called a model code of
conduct is enforced during Parliamentary
elections in India to avert corrupt practices. This
is applied to

political parties only

. political parties and voters
political parties and candidates
candidates contesting elections only

T

2. A country has the ultimate rights and power to
make decisions on internal and external matters.
Also it is not dicfated by any external power on

its decisions relating to its relation with other .

country.
Which feature is reflected in these statements?

Republic
Socialism
Sovereignty
Authoritarian

o S

3. Anti-defection law is an important feature of

Indian party system. The final authority to decide
on the - disqualification of a member of the
Parliament with respect to anti-defection lies with

President

Prime Minister .
Chief Justice the Supreme Court of India
Speaker of the Lok Sabha or the Chairman
of the Rajya Sabha

4. Which of the following statements exemplify the

independence of judiciary in India?

Lo Judiciary is not under the control of
executive and legislature.

. There is less scope for interference in the
working of judiciary by the political
executive.

1. A judge of higher judiciary can be removed -

only through a resolution which requires
2/3rd majority of both the houses of
parliament.

Choose the correct option.

l. fandll

2. land 1l

3. L1landlll
4. 1land 11
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5. Rajya Sabha is also called the upper house, elders
- house and permanent house, Which of the
statement/s given below is/are true about it? )
. Rajya Sabha has more power related to
financial matters,
Il Rajya Sabha members continue to be in
office tilf the next general election.

1. Resolution for removing the Vice
President and the President originates in
Rajya Sabha,

IV. Number of seats allotted to a state in the
Rajya Sabha is directly proportionate to its

population,
I, Llland I
2 Hland v
3. landlV
4. [Vonly

6. In the context of Indian elections, the parties
which fail to gain majority in the Parliament play
the role of opposition. Consider the following
statements and choose which staternent/s is/are is
NOT true.

I Opposition parties in India play an important
role in building public opinion,

Il. . Opposition parties are not constitutionally
recognized.

IIf. Opposition immediately assumes power of
government, if the majority party loses its
vote of confidence in the Parliament,

IV. Opposition parties keep a close check on the
activities of the government.

f. land Il only
2. Wand Il only
3. Hlonly

4. IVonly

7. Consider the following statements :
Statement I: All countries that are democratic
have written constitufion.
Statement I: All countries that have written
constitution are not necessarily demoeratic,
Which of the above statement/s is/are correct?

1. tonly

2. Honly

3. Bothland i
4. Neither I nor [{
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China exports a toy to India at ¥ 150, whereas the
same. toy-is manufactured and available in India
for ¥ 250. When China continues to export this
toy to India, this trade practice is known

as

dumping

export promotion
import substitution
export subsidisation

B

Shruti and Gautami were discussing about India’s
GDP and Kerala's SDP. Some of the observations

made were: .

I. Kerala’s per capita SDP is- India’s 'GDP
divided by Kerala’s population in a
particular year-

- I Since Kerala has best literacy rate and

excellent quality of life indices, it must have
the highest SDP. :

III. In a federal structure if we know all the
SDPs we can have a fair idea of how big
India’s GDP will be in that year.

1V. Kerala's per capita SDP in a particular year

is the value of all final goods and services

" produced by the Kerala state in that year
divided by Kerala’s population in that year.

Which of the above statements are correct?

1.0 Tand I
2. Iland M
3. IMland1V
4. L HI, and IV
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10. Shehnaaz joined a coaching institute for a
* professional course. At the time of joining the

course, she paid a fump sum fee for the entire
course of two years. However, she did not find
the quality of teaching satisfactory and decided to
quit after one year. When she asked for a refund
of the fee for one year, she was refused. Which of
the following right/s of Shehnaaz was/were
violated?
. Right to choose
I Right to represent
HL Right to be informed
IV. Right 1o seek redressal

Only |
Fand IV
[Iand [V
Only IV

=

11, Which of the following reflects situation where a
person s employed but do not contribute in
adding to the total product?

I Open unemployment

Il Disguised unemployment
HH. Seasonal unemployment

IV.. Frictional unemployment

I Tand Il
2. Onlyll
3. Wland v
4. Onlylv

12, There are 100 households in the village of
Awangkhul, of which the loan taken by 20
households are from the State Bank of India,
another 20 households from their friends and
relatives, 5 households from  Indian Bank, 10
households from a Regional Rural Bank, 15
households from businessmen, 10 houscholds
from village headmen and 20 households from
cooperative societies. Which of the following
inference (s) is/are correct? g
L. Formal sources of credit are lower than the

others. -
Il Institutional sources of credit are higher than
others,

Non-institutional sources of credit are higher

than others. -~

V. Informal sources of credit are slightly higher
than others,

I,

I, Onlyl
2. land i
3. Onlyli
4. Hiand Vv
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13. Which of the following statements are true about

food security?

1. Landless people ‘always have food
insecurity. B

{I. Those who do not have enough nutritious
food are food insecure.

II1. Those who have enough food but not the
requisite nutrition are food secure. .

IV. Those who do not have enough purchasing
poWer to buy sufficient food are food

insecure.
1. land I
2. land 1V
3. lMandll}
4. Hand IV

14, Siddhik issues a cheque of 19,000 in favour of

Hanush. What happens when the cheque is

received and processed in
Hanush's bank? ) )
. There is no change in their bank accounts

II. Both their bank balances increase by
719,000.

[l Siddhik’s bank balance decreases by
219,000 and Hanush’s bank balance
increases by the same amount, ,

v. lll“féfe is )1/10 change in Siddhik’s bank
balance although Hanush’s bank balance
sees an increase. ) o

Based on the above statements which option is

correct?

I. Onlyl

2. Tland I
3. Onlylll
4, Hland IV

15. The daily wage of a person in rural area is

T 180. Arrange the following houscholds in
descending order of vulnerability to poverty.

Name of the | Person | Size of the | Working

Household | - days Household | member
of s of the

employ family
ment

Ruldoo 14 4 2

Mulkha 15 7 2

Fakira 10 5 4

Preeto 12 6 3

Precto > Mulkha> Fakira > Ruldoo
Mulkha > Preeto > Ruldoo > Fakira
Mulkha > Ruldoo > Preeto > Fakira
Ruldoo > Fakira > Mulkha > Preeto

BN
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16.

The following graph shows the distribution of
+ mean monthly temperature and average rainfall of
a particufar city during the year.
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Which one of the following cities shows the
- climatic conditions presented in the above graph?

1. Nagpur
2. Chennai
3. Jodhpur

4. Bengaluru

The average mean monthly temperatures of four -
stations are given in the following table. The
temperature is influenced by the movements of

17
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land and sea breezes. . A
Ve JSAT o0,
.Months/ desen
Average Mean Monthly Temperature (afgoe dfeo 20yobSod’)
Stations | JAN FEB- | MAR | APR | MAY | JUN |[JUL | AUG | SEP | OCT | NOV | DEC
A 14.4 16.7 293 30,0 B33 333|300 (294 289 | 256 | 194 15.6
B 16.8 19.2 26.6 29.8 B33 33.9 313|290 201 | 27.0 {20.1 14.9
C 24.5 257 217 30.4 3.0 32.5 31.0 302 29.8 1280 |259 247
D 215 239 28.3 32,7 BSS 32.0 277 1273 27.9 1267 |23.t 20.7
Which one of these stations experiences & PBTUS O HrIBY, PAVGIGL HOTOL

maximum moderating influence of the land and
sea breezes?
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18. Observe the data given in the following table.

19.

City Female Male Sex-
Literacy Literacy Ratio
Rate (%) Rate (%)
A 66.77 85.38 960
B 71.16 82,67 980
C 73.78 77.17 989
D 59.26 79.24 972

Based on the above table, identify the city which
has the extent of cquality between male and
female better than the rest in terms of the given
parameters?

I A

Bl

B
C
D

Ruhani observes sequential change in relation to
altitudinal zones and natural - vegetation types
dominated by oak-chestnut; pine-deodar and
silver fir-birch.

Identify the proper sequence of vegetation type
she has observed from the following.

1. Alpine to Temperate to Subtropical
Subtropical to Temperate to Alpine

Subtropical to Alpine to Temperate

R o

Temperate to Alpine to Subtropical

13-22-SAT-ENG-TEL
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© 20, Obsérve the map givén below.

20 & g0ty DY 829otiodd. 21. Which of the following geological sequence  21. 806 girrorots H50HES® ZrDoeS He> 267 Jow
' properly matches the tectonic events from old to QoS Do VoHED rOgER0 00D &
recent time periods? o )
BP0 HOL o £50°0) CIRR00B.
1. Formation of Aravalli - Deccan volcanism - 1. esoossd b@’b&” ~ E550 MBS WEido ~ ard5
formation of Shiwalik -upliftment of Himadri . . .
2. Deccan volcanism - Formation of Aravalli - Erons—tritrg DolTons .
Upliftment  of Himadri- formation of 2. X0 MBI VEPSo - GTRY ovyn -
Shiwalik. . o o . ’
3. Deccan volcanism - Formation of Shiwalik - e Bolons - hards drifons.
Upliftment of Himadri - formation of Aravalli 3. B8R0 e Do Bearse - bods ordods -

4. Formation of Aravalli- Deccan volcanism -

9. . €
upliftment of Himadri- formation of Shiwalik. LG 0ol - eromid? o0

4. wTd? Joetw - BHD h) DG P -
2706 PoTo0E - 2508 EPTods.

22, The given map shows location of different  22. 8o¢s fa&)!)r\s BrHe0e erEEE0e5°D DS (L]

mountain peaks in India. 3070 gren 2o ossegron.

Identify  the shaded regions  with their ‘ i
’ ; . D D00 MBoDD
corresponding geographical features and select SO N T Fowow, T8 oo
the correct option using the codes given below. i OO GG (0gad, & oo D)o - :
GOAPACD) DTS JoDeHw S8 08, ' ” %
A mountaineer wants to scale the mountain peaks a8 DUE Bt eto Kood diemo XD Aoy
in Peninsular India starting from North to South. .
Identify the correct sequence of peaks the " 305 g 0 eBon daverd '
A 7 f lateri | . mountaineer will follow? DO BrdxD  ontes Sudd ROGHD  Iworre
. = Zone of laterite soil, B = Coffee Lo A= dg58 Fomren, B = 58 eend '
) . & ) > 8 Frogren, % Y
. pxoduC}ng area, C = Cotton textile. C = apd :«;@w DB, D= % e_{; ,@D ; . . RO 00 A7
industries, D = Evergreen forest cover ) < SR, LU D08 roudag = agiri: = imudi: = Bagho; B= RDI0E;
2. A = Everpreen f ) " ) l. A = Mahendragirii, B = Anaimudi; LA sre@ho; WRHNC;
' roduci green OrfSt cover, B -, COff‘?e 2 A= %8 o . N ; C = Dodabetta; D = Mahabaleshwar. C = Basy; D = 235Fudib.
lp):clcmg area, C = Zone of laterite soil, : TGy I8, B = v adyg 2. A = Dodabetta; B = Mahabaleshwar; 2 A = BBy B = SfwdKs
5 A= otton textile industries Fowren, C = G0 Frowren, D = ad sdro C = Mahendragiri; D = Anaimudi. C o S55r08n0: D = 38l
. ];t—'tEverglreeg foreét cover, B = Zone of DOgSeD ™ 3. A = Anaimudi; B = ~Mahendragiri; s oA hd ’mw& &= 5 ' ot
atertte soil, C = Coffee producing area 3 C = Dodabetta; D = Mahabaleshwar : T ORewes = o oEnG;
-0 oo A ’ AT RsY ¢ : = & % : .
D = Cotton textile industries : “) Jefvdmts S8, B ng@ 4. A= Mahendragiti; B= Mahabaleshwar; C=&aaty; D = osfwdid.
@;@om’ C= oD adyd Fooren, D = grd C= Dodabetta; D= Anaimudi. 4 A= aobroghl;  B-  dusredus;
4. A = Cotton textile i i = Cof NP0 DOZ = .
roducin, extlcls_mdusmes, B -COff?e . N C= 836y D= DG,
p & area, C = Zone of laterite soil, 4A T rd BP0 008w, B = b s ®
D == Evergreen forest cover . Fowren, C bt B Foween, D = {03;
Geogd , D =

&Péwéng Dy .
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23. While teaching a topic an agriculture, geography

24.

25,

26,

+ teacher had made the following statement about a

particular crop in her class.

"Mean Monthly Temperature of about 27°C,
high relative humidity, rainfall of 150 ¢m in
summer months and khaddar soils are the ideal
physical requirements during the period of its
vegetative growth, "

Which one of the following crops was stated by
the teacher?

l. Tea

2. Jute

3. Rubber

4. Sugarcane

Bibhuti was travelling to study the traditional
agricultural practices among various communities
in Meghalaya, Jharkhand, Odisha and Western
Ghats.

Identify the correct sequence of forms of
cultivation practised in these regions.

1. Jhumming - Kumari - Pama Dabi - Kuruwa
2. Kuruwa - Pama Dabi - Jhumming - Kumari
3. Jhumming -Kuruwa - Pama Dabj - Kumari

4. Pama Dabi - Kumari - Jhumming — Kuruwa
River ‘Indus flows through Leh . and Kargil
districts in the state of Jammu and Kashmir. It has
four major tributaries in India. Which one of the
following is the correct sequence of the tributaries
arranged from East to West in terms of their
conﬂuevnce with river Indus.

Zaskar - Dras ~ Hunza - Shyok
Zaskar - Hunza - Dras - Shyok
Hunza - Dras -Zaskar - Shyok

4. Zaskar- Dras - Shyok — Hunza

A tourist was travelling Indian States and came
across a famous Buddhist Monastery, farming of
three rice crops within the same agricultural
year, a cement factory and floating gardens on a
lake. ldentify the proper sequence of the States
the tourist travelled.

(PRI SR

I Sikkim - West Bengal - Assam -- Meghalaya

2. Sikkim - Arunachal Pradesh - Assam -
Manipur

3. Arunachal Pradesh - Assam - Meghalaya —
Manipur

4. Arunachal Pradesh - West Bengal - Manipur
- Meghalaya

10
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24,
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27. Observe the following diagrams carefully

28.

i)

Which ene of the above population pyramids is
an ideal representation of India's population?

I
I
11
v

o~

it

Which of the following statements regarding
printing in Medieval Europe are correct?

I Wood block printing reached Burope in the

lnih

3% Century.

IL. The aristocrats and monks criticized printed

books as cheap vulgarities in the beginning.

[ Printing did not entirely displace the art of
producing books by hand.

IV. Martin Luther had reservations against
printing of books.

I HWand I1I
I, Hl and IV
L Hand IV
I, Ul and 1V

BN —
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28,
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29. Which of the following statements related to 29. 70@“5053"2«3 P TFH PO Roodoisy &

30.

3.

,Mahatma Gandhi’s view on Satyagraha are
correct?
I The movement in South Africa was not
passive resistance, )
I 1t is the weapon of the people, who are not
weak.
HI. India could not militarily face Britain.
V. Truth is the supreme dharma.

I. I, Uand I
2. Lland1lV
3. I, IMand IV
4. 1, M and1V

Which of the following statements relating to ‘the
*Scorched Earth Policy’ in Java are correct?

. The Dutch destroyed the saw mills.

II. Teak logs were burnt by the Dutch.

HIL. Trees were cut freely to meet war needs.

IV. The villagers were encouraged to expand

cultivation in the forest areas.

. landli
2. 1, Mand I
3. IandIV

4. I, Hland IV

Which of the following statements about opium

cultivation in India during the British period are

correct? :

. The peasants could sell off the produce
freely. ‘

Il Local traders offered higher prices for
opium.

[l Opium production was increasing  in
territories that were not under the British,

IV. Peasants were getting money advances from

the village headman to produce opium.

I, Uand 111

2. LHand IV

L il and IV

IL HFand 1V

(53
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v. “(oejgo‘?).) BB S 3o

2 Dowoddorr
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2. I, 1l Sodok IV
10, T &u8080 IV
I, TH o800 IV
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H5O8DF.
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3. Isvsasw IV
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L I &obotw [V
I, HI do8asw IV
4. 14 HE sobaso TV

o
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spodowo

32.

33.

Observe the given picture taken from New
Orleans, Hlustrated London News, 1851.

32, 90l woid Qrd, 1851 ngSeQmﬁQ &
B0BoAH & Briosd DY H63Vocsod.

What does the picture represent?

1. Mourning

2. Slave auction

3. - Market place

4. Roadside gathering

Why were Nghe An and Ha Tinh provinces called

‘electrical fuses’ of Vietnam?

1. They were near to the capital city and were
centers of power,

2. They were among the poorest provinces and

had an old radical tradition.

They were very rich and had strong trade

links with the outer world.

4. They were at the borders and were in
conflicts with the neighbouring countries.

[

13
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34. Which of the following would be the part of the 34, DO D TS’ i50eraesD eros 36, Which of the following statements are frue for 36, 182 #orgRy OIS 300D RLOGD dago
sufroundings in a chaw/ in Bombay during the DOROFroErE Vo0Ged & 06 TE S’ 96 - eighteenth century France? 267
colonial period? BB DTS5 ‘I There was much eriticism of stavery. L erdRzegRy (00D Dty JEYHT Gottd.
[ Large number of people living in shared . 2 . b s ¢ W’ Il. The National Assembly feared opposition L 0w argado D06 BEPEHED SUde Kad
rooms, O Roas peen eayd oS’ Do from businessmen who were dependant on (OB5S 506D DRSS wood) BaiAed.
1I. (/: large fopgllatlon of people belonging to €080, ‘ slave trade. derstood their freedom . ehsdspon wdvwr Singd )
1 Nnaers "
epressed and lower classes. I esoveres® e 006 ewen eomadDEd MBS Brid 18 Ssli?ltcai?lg?n;m?nsgﬁ t 10 enslave Africans. S0 €03 8% Vosrrdren Baskutnr b,
11 Streets and neighbourhood being used for a DO BoRRTENT ol areo, IV, The Convention of 1791 legislated to free all V. 2odard RI0Erodt - Wonese’  ardiwosd
variety of activities such as cooking 1L Z)d,\)e.u BIPRFoTrUB) Doty Sk, agen slaves in the French overseas possessions. Dk Basrwd 17918 TRVEFDEND
washing and sleeping. ’ &4, APotsio BOBS Di"“& s°c55$v°%°us.) 206000, ‘
5 €030
V. Liquor sh d i " oS . landll I 1205080 1T
- Liquor shops and Akharas in any open spot. IV. edrdort Lz’ Bocifo dosErew, eroey 2. L Itand 1V 2. 1 H Sodatn IV
€08, 3. land 1 3. 11 dobaso I
4. L Iand IV 4 I 1T 9800 IV
37. Which of the following statements are true in the 37, @cod8 o8 arrdard wodtyod® Sob g
context of Liberals in Modern Europe? 20G0RD DD?
I. 1, Mand I 1 LI s8amo 111 . They opposed the uncontrolled power of L Sosdrgotgiaroe  odabegd  wos ol

2. LMland IV 2. LI s06a%s | dynastic rulers. ' Sy8B83oidared.

3. Ii and I1[ ; !;;).)503;?; v 1L fl"he.y' wanted to safeguard the rights. of I gaborpd  H@Borr  dEo S om

4, I 10and 1V ; individuals against governmer‘ns: ) T oBRerrerd) esdomh,

4. TI, I o800 IV 1I. They argued for Independent judiciary. . o g
IV. They believed in universal adult franchise L. %50 orgatodioR é“)o T,
for all men and women with property. IV, espaario 3p0xe0 o FOGE HOrRD 440
) ‘ . RS D0 GoTT.
35. Which of the following statements are true in the 35, S36 we, F6cHs orrol © D06EY0S° & God : 11, 1 dobaso Hi
context of Cricket in Victorian England? @959955 f,)@ 28 oHE? Lo L Tand I - 1, 11 v
. 2. Lltand IV 2. 1 1F 2000
I The rules of Cricket were made to favour L “gse” Dobadeotsden WONTHONT 301 Iﬂaandl\/ 3. L I &8s IV
I E[l?}(l)se who werfe des;nbed dT “Players”. 28) 308 exvgrvon srTobom. 4, 1L, 1T and IV 4. 11, 111 06080 1V
. € wages o g
paronagsorsuscrpton o gte money. || 24T 36908 S 9 o
P & oney. For GHBDRBN0 e BPoiSondh. Directions: (Questions 38 - 40) oot (Qyeo 38 - 40)

HI Cricket was viewed as a way of teaching L esofferendss $885% g098em, $RR0riEes Read the statements and select the correct o 800 R S6D, &%a et
English  boys discipline, importance of Favfo. ALSS] vgErw  S°00d w answer from the options given below. orbos BBy3 2dyge %208 2o Sakod.
hierarchy and leadership qualities. 0G0 erDoBarch. I, Statement I is true, Statement 11 is false. L orgpn | 0ow0ntd, @Is{g:m 11 e:a:g.

o 2. Statement | is false, Statement I! is true. 2. s iy, arsgin 1 R0,
. IV, estoro 5 J5eLrTe i
- IV. The rich who played were called amateurs. 55 “ RaR) IO B 3. Both statements are true, and Statement 11 3. arwpun Sotr 030D, orgin (18 oeggdw |
: ® lyﬁm provides explanation to Statement [, D5 AROB. | )
4, Esitotth tSiell’[t;mems : are_d true’ tput 4. apsgow Dot ©Qsd. rdEuo 113,
atemen oes not provides explanation .

1. 1M and 11 L s0at ] to Statement 1. aeggahan | Doder BB,
2. Liland IV

2. 111 0805w IV 38, Statement I: The Bretton Woods System came 38, &gjaw I Qhoscingrioddo B0 ﬁé’b PR
3. LTand 1V 3 LI 00t [V up during the post -World War Period, [ZISIENPSAITAY

3. N
4. I, I and IV Statement 11: The industrial nations had massive - s Il aropdos Swod® 598, voralro

4. 1,1 ook IV growth of trade and incomes. 5 wdrr god.
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39. Statement I: Potatoes had been discovered by
+ the Europeans in the Americas,

Statement 1I: Poor people in Ireland  were
dependent on potatoes to escape starvation in the
19® century.

40. Statement I: The President of India cannot claim
the kind of direct mandate that the Prime Minister
of India can.

Statement H: A candidate contesting for the post
of President has to gain a majority of votes to be
elected as the President of India.

41 I m = 4 ~ n, where n is an integer, then
m’ —2m is divisible by

20
2. 24
3. 30
4, 16

42 The value of 57 % 98 x99 100 1 is equal to

1. 9901
2. 9891
3. 9801
4. - 970}
43. Let P(x) be a polynomial of degree 3 and
| .
P(n) =; for n=1,2,3, 4. Then the value of
P(5) is ‘
.0
2 L
5
” 2
S, T
5
4 3
s

M. If cand Pare the roots of the equation 44,

3x" - 5x + 3=0, then the quadratic equation whose

roots are ¢’} and ap’is

I 35~ 5x+3=0
2. 37 8y45=9
3.0 3% -8x+3=0
O T
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39. orggow I s ARITRODH LorrEEIEHOK
S0fFdcto 2bhod.
g 11 190 Serged® ogrod &°0 Hespmen
es80eres ol LoD DS QTP 00O
[Elayezelatvilet

40, arggomn 1t aroads DEFOBIG DT s ooiHd
SBEFOD DO e Forsdch, s

g I >rodogod wedd O &5 zk0
THOBT IS 50008 et iy Tocsded
608008,

41, n a8 Xzyg}’\)o&ﬁséé, m=n*-n o0dS m? - 2m &
X)%Q:qsix)nb PO/,

120

2. 24

3. 30

4. 16

42 o798 %99 % 100+ 1 e

RBRA 6.

1. 9901

2. 9891

3. 9801

4. 9701

43. 28 wirons P(x) o), & 3 waw for n=1, 2,

1
3,4 0% P(n) = — oo P(5) aIog); Dewsd.
n

%)

Al L G D

337 5x + 3=0 w0856 BTN, (1 SO0
Beocndes a’B subase of? sureresn Kes A
PSSR -

l. 38 -5x+3=0
2. 3 -8r+5=0
303 -8r+3=0
4. 3x2-Sy-3=0

45. In village Madhubani 8 women and 12 girls can
paint a large mutal in [0 hours. 6 women and 8
girls can paint it in 14 hours. The number of
hours taken by 7 women and 14 girls to paint the

mural is

10
15
20
35
46. 3445

If x = 3

quadratic equation

B =

and y = x°, then y satisfies the

1. y~18+1=0
2. Y +18y+1=0
3. Y- 18-1=0

4 Y18y 1=0
47 If tan®0 =1 - ez, then the value of
sech +tan’0 cosecd is equal to

Lo _eZ)l/2
2@ 7cz)m
3. (2-e)"?
4 (- 62)3/2,
48. Let the volume of a solid sphere be

288 m.cm’. A hotizontal plane cuts the sphere at a
distance of 3 cm from the centre so that the ratio
of the curved surface areas of the two parts of the
spHere is 3:1. The total surface area of the bigger
part of the sphere (in cm?) is

1. 36w

2. 108w
3. 135w
4. l44 ¢

49. - A solid metallic cylinder of height 10 cm and
diameter 14 ¢m is melted to make two cones in
the proportion of their volumes as 3:4, keeping
the height 10 cm, what would be the percentage
increase in the flat surface area?

I, 9
2. 16
3,50
4. 200
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45, 008D @b prodwe® § Hood @w odoskn 12
08 erdsen ey DY HXEg DB/ Howood
ot 10 doten DR, 6 dad Yoo sovamo
8 food wrdsen wd sy DB Dowotof
Bosots 14 roten ey ewond 7 b §m
00 14 e erdser HJI8 Dowotoh Soswexd
SRV Hotien

1. 10
2,15
3,020
4, 35
a6 %ﬁ 20800 y = £ 0D, p DodLR0H
BGHES BB
Ly —18p+1=0

2. Y +18p+1=0
3 Y- 18y-1=0
4. F+18p-1=0
47. tan’0 = | — €7, eomad® sech + tan’d cosecd

DROBEY DOFVRONE.

. (- e2)1/2
2. 2-e)"
3. @2-ey”
4, (1-&"

48. a8 pod fivo cogy posbosrmo 288 1w
00000, w8 (£De) DHFOBS LBV & BVAL
g, Togdd Mod 3 20.00. Brosns” Podods
@ Dot orardiny dse v 3]
JBS” ey D worS'D By woderriin o8y
RoRZgoY Frregnwn (5.20.00.08%)

36m

108

135w

{44

49: 10%0.50. dgo 00 14 Do.2o. arposw do w
WD e Qrosnm 0000 10 0.2, JED
Botd  BoHVVA T PB4
WSS ooty Sosrcadde, DO wuse
DEOEdNE’D) HEEBo?

1.
2.
3.
4

1
2.
3. 50
4



50.,

51.

Bach vertical face of square based vertical pitlar
of  height 3 m  has 7 equal,
semi~cylindrical surfaces in such a way that its

horizontal cross- section is as shown in the figure.

50. sesresy ardutie, 3 D AT Hory B

Aing), Densy deswz 7 RdD GERFFTELY
SRR DAL wOfd. DBS Lrds Ko
Q0S8 EE'E HRENS® BIEHIAKE.

e

E

If the radius of each semi circle'is 10 cm, the
volume (in m’) of the pillar so designed (taking

22 .
7 =~=)is
)

1. 5.88
2. 6.14
3. 642
4. 72

Let ABCD be a square of side 20 cm. The afea of
the square PQRS (in cm?) interior to ABCD,
shown in the figure is :

WDUC)D)

51.

£ a0o8), ey 10 2o, mga»gms
Q0 0053 &5 RoERD LR0BR0N

($0D0t0ges”)? (7 = 572— ) & B0,

I. 5.88
2. 6.14
3. 642
4. 72

BB00RED  ABCD gy abadn 202080,
BLBS” Bronds Do ABCDE fo  PORS
SR DT (28:20.50.) '

10 B

10

Q

10

M
10
D

1. 60

2. 80

3. 100

4. 400
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52,

A circle is inscribed in a right angled triangle of
perimeter 777 . Then the ratio of numerical values

of circumference of the circle to the area of the
right angled triangle is

1. 47
2. 37
3,217
4. 117

53, [t is known that area of a cyclic quadrilateral is

. atbtctd
where b,c.d are the sides and § =—— 5 .

If a circle can also be inscribed in the cyclic
quadrilateral then the-area of this quadrilateral is

@by + (edy’
2. Jabed
4. Jady + (be)?

34, Two circles, both of radii @ touch each other and
each of them touches internally a circle of radius
2 a . Then the radius of the circle which touches

all the three circles is

3. —a
4. a

55, Let D be a point on the side BC of a triangle
ABC suchthat £ ADC = £ BAC. If AC=21 cm,

then the side of an equilateral triangle whose area -

is equal to the area of the rectangle with sides BC

and DC is

1. t4x3?
2. 42x3M”
3.0 14 x 3N
4. 42x3\%

13-22-SAT-ENG-TEL
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52.

53.

54.

35,

770 sotpSodny vow Sndaiannd” 8 ewd
250 Aobwddd. © B8 Dploss

vonfn  gww  Progdd  do g
(Roaridendods’)
1. 47
2. 37
3027
4. 17
atbretd

a b, d O BT, §=—
Ry wownd  G8ah  Sdodoyman  ding)
progn a6 Do 96— & b
SBoBnBENG” wodb gy oD e
a@ama&):m CAnE), PBOLDD -

1 @by + (e
2. abed
4. J(ad)* + by’

a ogErghn o Both Bgres w8dFES
Ry Boshoan, S0 & Wl HYaD 2d
riRga0 o BBANE TPy wodddorr
RyyBochoRo. & Lored Sepdy DyPod B
GRG0,

1
. —a
2
2
2. —a

3

3. —a
4. a

ABC @z £ ADC = £ BAC erbdép,
BC 506 D 0 28 Doy, AC=21%0.5.
wod, BC, DCed gawentr o &gamc@:a

DTOEINIH  DAFHO  PTOEI (23]
0PI Q0BT $0B) TED

I 14x3"%

2. 42x3™"

3, 14 x 33/4

4. 42x3"%




56

57,

59.

Let ABC be a triangle with sidesab,c- Then
lengths of medians of the triangle formed by the
medians of the triangle are

(x+ 1" is divided by (x ~ 1)°. Then the value of
the remainder at x = 1is

1. -16
2.0
3. 16
4. 32

. A circle passes through the vertices of a triangle ABC If

the vertices are AC2,3),  B(2,-3), (2, —3), then the

centre of the citcle is
1. (0,0)
2. 0,0
3 (=2, 1)
4. (0,-3)

1f two dice are thrown together, the probablllty .

that the difference of the numbers appearing on
them is a prime number

1U,xoi4>\oit\>

12
17
4' R
36
20
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56.

57,

58.

59.

a.b,c Soemente  ABC w8 DEoadn. ABC
Bgowdn @) ocseies Bowd DG
o CIg), é)oc&ghej B0 ﬁ"a:@

—
R
[
&
[ —
o

R
R
&
o

Rt
2
o
o

ol Blw Wi =
[

Sl plw Lo
N RIS AW SR

e
2
&

e+ Do (x
FAilere 2 b0l

1. -16
2.0

3. 16

4. 32

AE2, 5), B2, -3), O, -3) o a8 G3oaky ABC
e, & o oo Dl g o), g
DotdwY

1. (0,0)
2. (0, D
3. (2,
4. (0,-3)

Borty OO 2EFC DHX, ¢ O PO
Brdod o B PER oy TR

{ooa"ép

L.l

1. -
9
4
9
El
12
i
36

1) graodd, x = 1 5 O

60. Observe the given data

61.

62.

60. &5 O ady® GEroan ANowNed.

Class 6668 0-20 | 20-40 40-60 60-80 80-100 | Total dueso
Frequency 17 fi 32 5 19 120
o0

[f the above data has mean 50, then missing
frequencies /; and f; are respectively

[. 28and24
2. 24 and 28
3. 28and30
4, 30and28

Directions: (Questions 61 - 62)

Suppose that the acceleration versus time grdph

of a particle that starts from rest at t = 0 is as

shown in the figure.

a 1£A
nm/s

0

) PO,

DD DEYDY BTLoF0DHL HTHO 50 oD,
BT oD DRRHTYD f1, fr 0 HERT

Lo 28 &odosw 24

2. 24 0605028
3. 28 000w 30
4, 30 Sodosw 28

Rordsden: (gyen 61 - 62)

t = 0 DAEIS af wmd) &0,
RO Jobd Berddo Sots I,

04

At what instant does the particle come to rest for
the first time?

I. §s
2. 10s
3. 15s

4. The particle never comes to rest

What is the total distance travelled by the particle
during 30 s?

I. Om

2. 500m
3. 750m
4. 1000m

- 13-22~-SAT-ENG-TEL

10 20 30

B Lin s

61. ez eaz03) B8 Dogmoocsre DT ees?

L5 280
2. 10 28ocp
3.0 15280¢0

4. es R DD 29 k.

62. 300, HHOS® o (6’8'&)@) HABoND

200¢0 Grdo dodh?

I. Om

2. 500m
3. 750m
4. 1000 m



63. An object of mass 2 kg is moving under the
action of a force which varies with time as shown
in the figure.

.
(N

63,

2 8.0 @50 SO a8 DRI 0GBy 8ot
H006° BB TPErRII ST HFERE.

Which one of the following statements is correct

for the interval from 0 to 20s?

1. The momentum of the object decreases by
75 kg w/s.

2. The momentum of the objéct increases by
75 kg m/s. ‘

The momentum of the object increases by

125 kg m/s.

4. The change in'momentum cannot be found
as initial speed is unknown.

[

64. Two cars *A’ and ‘B’ of same mass start from the
same location at the same time but on different
straight roads. Car ‘A’ travels on a road that has
greater angle of inclination with horizontal
compared to the road on which ‘B’ travels.

At any instant both cars ‘A’ and ‘B’ have the
same height above the starting point. If Ex and Eg
are total energics of cars ‘A’ and ‘B’ respectively,

then

1. Ba<Eg

2. Ea=Eg

3. E.>Bs

4. Relation between E, and By cannot be

decided based on given information.

22
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64.

w t(3)

0 00D 20 Doty DoeHrIB %oa&)o@oﬁ) 80
BgargeS” DB RJHO®

1. S%0s 6088 75 kg mis £ Se3000.

2. dkosp SodS TS kg mis D DY

Bocdoeood.

(o5

st $oBS 125 kg miS £ B8

[ALIAVEENLTAN
4. - Fdoario adoHvor
BrGoyE HQOSTD.

S3DES’D

28 o3 $BAD ‘A7 Sbok ‘B’ 0d 5o 2.8
Ridoked 8 Qoo Mo, DY srgod’
arlm sooran. B s poired g
Doy A TO pogrded
Darodtorr gD dTrw P30 &0b.

9 Wotssyeds wrbae ‘AT swddd BT s
Foon Fdo Lol HHRPIDD oS’ ey Ow.
CA’ Hobosn B’ o dodo $hen By sdoin By
BONB, WINE -

1. Ea<Es
2. By=Eg
3. Ea>Es
4. dyd warerdo wrrdore Ea s0da%0 Eg

) W05y agwoaém.

65. The gravitational potential energy difference per
unit mass between the surface of a planet and a
point 100 m above it is 1000 J/kg. How much
work is required to be done in moving a 5 kg
object 100 m on a slope at 30° to the horizontal

on this planet?

66, At what height above the ground do they coltide?

1. 1250
2. 25000
3. 43501
4. 50007

Directions: (Questions 66 - 67)

Two identical objects A and B each of mass m
start moving along the same vertical line in
opposite directions at the same instant. Object A
is dropped from rest from a height H above the
ground and object B is projected vertically

upward from the ground with speed u = figH .

1. (HH
2. (I/)H
3. @3YH
4 GBMH

23
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66.

55 28 oD @agoeds g &DOBDS 06

o FHrarEes fgdég DgEmgRo MOk ErIR
100 DoeagsS™s Docsosp®o 00D ¥8 1000
kg (s DOFedoedd 30%0 dwarenp 100
oy B6%H 5 &SV wbHdle R
£0B05erS ©DVCPD DY Jos?

1. 12507
S 2.25001
3. 4350)
4. 5000)

DIPIdLO: (g;%‘)‘u) 66 - 67)

28 Do w e ORNS HyBB

O30S m GO Tothd ROK SKIPHLD
gesoenmron. Fron H Sodvod)

A wd S boord &ed

Detdapeitood. B ed Qo Sy pé
u= [Igh drio& 300D P& Ddderciiooed,

Jood)  do JPoS’E Bocy  SEwspew
A8 otran.

L (1/4)H
2. (I
3. (UMH
4. GiHH




67. After they collide, they stick to cach other. What 67, e &g";a‘l SO 0 28 IS .80 & 69, A convex lens and a concave lens, each of focal 69, & 806 0808° Ay Do 28 tbsess
. s TSERO) ANt

+is the loss in their total energy? Fotraw. oty Doogo #38 HPo M0 Joes? length 10 cm, are kept separated by a distance of 080, w8  Logrsd o
2 om as shown in the figure. If the light is :J“e’i)c.ﬁ:)vcso 10 0.5 0o 28) gD
.0 I. 0 incident from left, the combinations of lenses will C&J';é o5 (oo;:) - G0d, 60CoD 2 0.8,
o €50C5¢E
2. (112) mgH 2. (1/2)mgH be—— — ch&ﬁa&&na‘»oéo D%O&bi}ﬁi;& e z:@b
2 S
3. (32 mgH 3. (312) mgH . DAY OO ol . )
4. 2mgH 4, 2mgH \

68. Given below are two different graphs of variation 68, ¢ S N Dol soerdy @

of density (or pressure) of the medium with

position (Fig. 1) and with time (Fig. 2) as a wave S aregRo o (Do 1), :?geaﬁ)a RoROAIrRY ; Z(‘mver.ging I. Sofsdeo
! 2. diverging 2 o
asses through the medium. i 3. behaving like ¢ . - ORVGMo
passcs through the mediu 000D (Do 2) 0 ByE5P Boch Bar 3. behaving like a glass slab 3. rRHossd HB0]
4. converging or diverging depending on 4. 308 VOGRS,
- whether the lenses arc arranged as shown in - - SobStmo dor wbiimo wdD Do’
QS 8ots LrDoLERow, « the figure or in the reverse order, SrDD Dorr seww LRSI WA
o 2580 DEAS® @030 D BErdore
density » &’:difb@"m).
e 70. g; él:ycx;ctﬁaﬁ\t/;r; gxle ratio 01; \;/ork done by the 70, € 806 ?od;vzyéeies“’ A H8ain B Frore A0
ain the current between point A erd Do ok . )
and B to the work done for the whole circuit is éj)éoéﬁ :%o.;o?)m %@é%)é :;?j ' D‘OMZ’ s
o 3] ) . "
50 100 150 200 % (om) DEoTP Eotod ) 28 q«DQ =
109
20
Fig. 1 Amkx 2Q
1591
density :
or : . I
pressure
) :
1.0 2.0 3.0 4.0 t {imilliseconds)
1.3v
I
i o [0 — 1
g 2 117 b
What will be the speed of the wave in the given r;;g)();() m¢5§moe5*” 8680 Do Jod? 117
medium? ' 2 = !
, 13 23
I. 25m/s 125 DoBrsogn .
2. 50mfs 2. 50 2oDnsog 12 5 L
3. 250 m/s 3. 250 2dnso 4, 1 12
4. 500 m/s 4. 500 Q)%)?OGO@J 4.1
24 ‘ o 25
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1.

Magnetic field at the centre of a circular coil of
radius R carrying current i is Boc—;— and its
direction is given by right-hand thumb rule.
Magnetic field at the centre of a circular arc subtending an
. . i 9 .
angle © de; s Boc-— |——1] and ifs
angle (in degiee) is R (360") .

direction can be found using right hand rule.

Fig 1

Consider two circular coils” made of uniform
conductors as shown in figure 3 and 4. In figure 3
points C and D are diametrically opposite to each
other, and in figure 4 ZP0O,Q = 120°.

Then magnetic fields_

b
Fig. 3

at both O, and O, are zero

2. at both O, and O, are non-zero

is zero at Oy but non-zero at O,

[

4. is non-zero at O, but zero at O,

26
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71, DegENER (piwodd) R mgﬁ“goﬁo_

SEres Sy (seond) Boghoes® (o

ot Edo Boc - s0dasn o0 6%
Eatnty) PRSIV Dot o
Brdotsdod. Do et (o oD od
Ego O 065 Ddbé o“fl)c35§6£‘ao Bocé
2 sotoie D oty HABS gy,
360°

ED0XPA00D SR8 By,

i

S

.
N

. A
R/Q\ B R 3501
"
Fig. 2
3, 4 o BrHedd Hdd S Tireod
SEPEBVH  Bodd Ess BN
$83otscd. Do 35 C, D 93 Dochoapen
LETITED DGO dotre Ao 4
£PO,Q =120°.

o000 o) ot Egren

i,
Fig. 4
1. 0,0, Bodot ég .
2. 0,,0, 80808 bg B0 5.
3. O :xg BIPRGOSTP O, :Jcas wézgos"c&).

4. O Bragosadio: 0,56 Bomids0.

72. A pin AB of length 2 om is kept on the axis of & 72 Oghoe® oD Do 2 Do..0 ety
© " > 0.0.0 )

convex lens between 18 cm and 20 cm as shown
in figure. Focal length of convex lens is 10 cm,

Find magnification produced for the image of the

AB 3 2rdho 08 Doarses g6s [CEGE LS
20 2o.dv.0 WGy eodedod. ©oarEY S
AP0 10 20D, Qrd HADowo. V) Tew
DAHS0E?

pin.

A B

5

<O

A
1. 083 1. 083
2. 100 2 100
30125 3125
4 678 4 678

73. What is the current supplied by the battery in the 73
circuit shown below? Each resistance used in v

circuit is of kO and potential difference

- & 808 RFEDODD Tocb%éei SHFS M T AT

DRSO Jod? 6 m"’zﬁges & &DAPAID KO
JBS%o Dewd 1kQ Arsng.o MBaLy s

27
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Vs =8V =5) 85
D§E[R0 Vap =8V 1P obnod. ’
A
B
I 64 mA
2 15ma I 64mA
3 987 mA 2. 15mA
4. 1TmA 3. 9.87mA
4. 1 mA




74,

‘

75.

76.

Read the following statements.
Statement I: Sodium metal reacts violently with
water to produce heat and fire.

Statement 1I: Potassium metal reacts violently
with water to form potassium hydroxide and
hydrogen gas.

Select the correct answer from the options given
below.

1. Statement | is true, Statement 11 is false.
2. Statement | is false, Statement 11 is true.

[

Both statements are true, and Statement 11
provides explanation to Statement 1.
4. Both Statements are true but Statement 1

does not provides explanation to Statement L.

You are provided with 18 ¢ each of O, Ny, CHy
and HZO. Which of the following is the correct
decreasing order of number of atoms present in

these samples?

CH, > H,0 > Ny> 0
0, > Ny > H0> CH,
CHy > Ny> 0> H,O
N, > H;0 > 0,> CHy

Ealadis e

Manya, Kartik, Gurnoor and Sheena had arranged
the ions F-, Na', O, and Mg"" in decreasing
orders of their ionic radii.

Manya— O >Mg"* > F>Na'
Kartik — Mg?" >Na*> 0> F’
Gurnoor ~ OF >F >Na'>Mg”
Sheena - F >Na'>0">Mg"

Who had provided the correct order of their
decreasing ionic radii?

1. Manya
2. Kartik
3. Gurnoot
4. Sheena

28
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74. & Sob GV D06
argge 1: Fdawo Siro DOE By ooy 20D
&Ry, B adyd S000.
arggo 11 Teraobo Ssro DO ddesyy 20D
Teriaabo woo  EBS
SO Gy BR0d.
& 306 DER) DANFL ol BJD 2780
Do Baocs.

TEBhE

1. &g 1 0GRG, arggo [ &3y,
2. a"sso [ Sy, ogge [T 2308,
Bothy arejew WERD. Ddodw arsfe 1,

(%)

arggo 1 8 DHOM AROB.
4. Boch drsepR0 WBOD. =D argo | & arggo

11, Dadesen 8.

75. g w880 18 prave SipyR 0, Ny, CHy
Soboin H,0ok0 'aésc:o 20058, &
soarood %6 80y asraed
DESTEVDO D0 woirn g A0
2BHO?

CH, > H;O > Ny> [e))

0, >N, > H,0> CHy

CH; > Ny > 0,> H;0

N, > H,O > O, > CHy

R S e

76, A&y, 5°88, md’"ié 0000 VD BOSrdIR
a°5.3°g:1ne) egranT woBTn g0 F,
Na', OF, 20830 Mg 0o D660 &3

s°do,

sy - OF>MgTSF >N
5266 - Mg >Na'>Oh>F
w6 6 0% >F >Na' > Mg”
) - F>Na'>0">Mg"

VRIS G SRS E B goood® VI
DRI D> VTND?

[FEESHENS
2. =88

3. (bdy;&
4, b

7.

78.

An organic compound A on heating with
concentrated Hz280s gave product B and on
warming with alkaline KMnO, gave cdmpound
C. Compound A on heating with compound C in
presence of  concentrated  HSO;  formed
compound D, which has fruity smell,

{dentify the compounds A, B, C and D:
1. A = Alcohol, B=Carboxylic acid,
C = Alkene, D = Ester

2. A= Carboxylic acid, B = Ester,
C = Alkene, D =Alcohol

w2

A = Alcohol, B = Alkene,
C = Carboxylic acid, D = BEster

4. A= Alkene, B = Alcohol, C = Ester,
D = Carboxylic acid

Match List I (Mixture) and List I (Type) with the
list Il (Example) and select the correct answer

from the corhbinations given below:

List1 List II (Type) List 111
(Mixture) (Example)
A. Liquid in . Emulsion |1 Mist
gas I
B. Liquidin | 2- Acrosol ronee
liquid 111, Face
C. Gasin 3. Foam cream
solid
4. Gel IV. Butter
Lo A3 B-2-111, Ced-1V
%' A2, B-1-111, C-3-1
3o AL B-2-1,  C-3-1
4 A1, B-4-[, C-2-1
29
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TLOA e w8 Syd Rdgwsn, mE HSO, &
SASD/OD B d Grryssnnt adyde.
b0k 36 KMnO; & 5é By C ed
RDopuRI BNDO. B S Wdy e A,
Rdowvo C8 me HS0, dougdoos® B
(3?\3&:@3@ D ed m;‘m&mm %CS?)K)OX)K)CS. %D
o R0 DO TR SO0 69 6. '
B2 A, B, C svboin D wdoywmssoows
BS0c::

L A= w0yt B= 5283498 espaw, |
C= 93&65’ D= 0;35

2. A=58,3195 wipiw, B 6,
C= @3)&5, D= UE)ZS?’JGQ)J

(%)

A= ese)b::"‘w, B= ee?)Z’S,

C = @6“5%8)5 espdw, D = 336

4, A= @3)2}5, B = ey iren, C = 336,
D = 58898 esga

78, e 1 (Qugsvam) @odcko I (6sam) o

209000 wder 1 (erriron) & asdd, Grbd
DEYDY - DodrvwS’ OFY RBRFETRH
g BSoiod.

wdar 1 ade 11 wdoe HI
(Dogsrsn) {v830) {estrirden)
FuE— {. ngﬁ L Zb.g
‘ @0 2. DBISEr® | (TPessvock)
B0DS) 1. o
B. g0’ gdo )
3. &0 0L %% 8o
CRomges” | (§aw) V. wgs
OB 4. 85 (2rbw) (%))
I A-3-ll, B-2-Ill, C4-IV
2. A-2-L, B-1-1l, C-3-I1
3. A-1-HI, B2-1I, C-3-1
4, A-1-11, B-4-1, C-2-11




79, Which of the following set of reactions wil

oceur?

L MeSO, (aq) + Fe(s) —FeSO4 (aq)

+ Mg (s) A

1. CuSO4 (aq) + Fe(s) — FeSO4 (aq)
+Cu(s)

11l MgS0; (aq) + Cu(s) — CuSOq4 (aq)
+ Mg ()

V. CuSO4 (aq) + Zn(s) —» ZnS0, (ag)
+Cu(s)
1. land 1l

2. lland IV
3. I, Wand il
4, 1, HMiand IV

80. Two organic compounds

sodium metal and both produce the same gas ‘X
but with sodium hydrogen catbonate only

compound B reacts to give a gas ‘Y. Identify

A%, B, X and oy

1. A = Ethylene, B = Ethyl Alcohol,
% = Carbon dioxide, Y = Hydrogen

7. A= Ethyl Alcohol, B= Acetic acid,
¥ = Hydrogen, Y = Carbon dioxide

3. A = Maethyl alcohol, B= Ethyl alcohol, X = N - N @0253’:556,

Hydrogen, Y = Carbon dioxide

4 A= Acetic acid, B= Fotmic acid,
% = Carbon dioxide, Y = Hydrogen

ﬂ3f~22w§AT~ENG~~TEL

1 NOT

‘A’ and ‘B’ react with

79. % o6 BB GAOHD BEge” DogHHNE D | "
WBI @e.)bo&.
. MgSOs (aq) + Fe(s) —FeS0, (ag)
+ Mg (s)
1. CuSO, (aq) + Fe(s) =~ FeSO4 (aq)
+Cu(s)
111, MgS0; (ag) + Culs) = CuSOq (aq)
+ Mg (s) -
V. CuSO4 (aq) + Zn(s) = ZnS04 (aq)
+ Cu (s)
Lo 1 soooio [T
2. 1l &H0asn IV
3. 1,11 sodoso d 1
4. 11, 111 S008IV
82,

80, <A> 2000k B’ @D Tothd S0 :o;ﬁa&mmw'
Fagme Sirand ooy acd, X ol o8

Do e Tdato wEad slyd8 g w5
285 Y @D SraHNR) DLHtRR. Hises®
AT B, X7 B0k (Y 0k (9gotsod.

L A=20d5,B=ags ueu)Fs,
X =50y® coirg, Y = TEBD

2. A=apd e.se)zjzﬁei B = Q25 esapdo,
X = 1pEad, ¥ = 5060 Gosrgyt

X = p8ad, ¥ =500 fetosvset

4. JHOS i, B = roS epoo,
X =50y ® csosrgyG, Y = TEBd

30

Consider the elements A, B, C and D with atomic

aumbers 11, 12, 16 and 17, respectively. Which

among the following statements regarding these

elements are correct?

I The element C will gain electron more easily
than element D.

II. The element B tends to lose electron more
readily than C.

[i1. The oxide of A will be least basic while that
of D will be most basic.

V. The energy required to remove an electron
from outermost shell from A will be
minimum  while that from - D will .be
maximum.

1. Tand Ul only
2. Tand IV only
3. . [l and I only
4. 1land IV only

The following observations are given for four

metals:

1. Metal H does not react with dilute HCI,

il Metal K reacts with warm water.

‘HI. Metal L. does not react with water but

displaces metal M from its aqueous salt
solution.

V. Metal M reacts with cold water.

Choose the correct decreasing order of reactivity

of these metals amongst the following:

M>L>H>K
K>M>H >,
M>K>L>H
L>H>K>M

L3R —
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81. A, B, C oot D 00 duresen ddokre 11, 12,

82.

16 08050 |7 Hdoeen 7003.\350&) {50 &R)"Q/OJ.), i
DPOTOL Do0G0d B FEYOS’ DO WPHA?

L D ed dorodo So3 C wd durugo QD
KOOI (K06,

IL Cesd sarogo $083 D ed dwrode e %o
BBore ESydod.

L D od ogyf @d odd s0ogd), A o
B 3 o) T SN,

V. A od doreg erdrgsgy (outermost shell)
o, Qogm% Fohodtrdd eddsmocdy 38
80g0 P, D ed dorowdd 6oy 63

OG0,

L1000k [ drgss
2. 1 Sobabo IV sregd
3. I obcho 11 drrgdo
4. 11 08080 1V Srgdy

Tt SErAnoH  Rowoded & 80d
DBRODLY BIERD.

L H od Sodw vao HO & oo
Fref e,

[ H&HE K b S¥wan W €9
&otod.

HE L oed et D80E s $8a sods
orr, H 0d Sordand, odn gondw
ol FOFo#0 BodI0s.

V.M wd Sran ogd D68 sy €98
&obob. )

& Sirave 205 On® wf, & Sois DY
TBS® 2B wsdirn garD) Jods Soabod.

. M>L>H>K
2. K>M>H>L
3. M>K>L>H
4. L>H>K>M



83. Match chemical reactions given in the List [ with
the type of chemical reactions given in List 1 and

select the correct answer using the options given

below:

List 1
(Type of
Chemical

ReactionL

1. Decomposition

List I

(Chemical Reactions)

A. Formation of NHj
from N and Hp

B. Calcination of zinc
carbonate

C. Reaction of aqueous
BaCl, solution with
dilute HySO4

D. Rancidity of oils

iL. Double

displacement
[11. Combination
IV. Redox

V. Displacement

1. A, B-v, CIL DIV
2. A-lIL B-IV, C-V, D1
3. AV, B, C-V, D1

4, A, B, CHIL DIV
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83, pedee 1 & STocdBDd SAADE DO,
o 1l & Podonsdd SroDIE Ko
Seoood  andd, S0 DEX) aa:‘l)()@@'

egTrEoTe DB DIETT Y Do Dol

e I

—

(B 3E5R0)

e |
(BaHDE S5
BEH0L)
AN, moboto Hy oL oDy -
Ho0d NH; oyt
SB35

B 8ok 1L Ggrogodo

5,
PoSCe 1. %0030°6:5

C. BaCly 20gprotaan

e 1550, & e | 1V 98350%

D. 80060 GITCRR Sodosdrred

V. %‘*é@o%o

1. AL B-V,C-IL D1V
2. A-lIL B-1V, C-V, D-1
3, A-V, B-llL, C-V, D-1

4, AL, B, C-01, DAV

84. You are provided with aqueous solutions of three

salts — A, B and C, 2-3 drops of blue litmus

solution, 1'€d litmus SO]UtiOn, and phenolphthalein

were added to each of these solution in separate
experiments. The change in colours of different

indicators were recorded in the following table:

[Sample |With | With Red | With
Blue Litmus  |Phenolph
Litmus | Solution |thalein
Solution Solution

A No No No
Change |Change Change

B Turns Red { No No

: Change Change

C . |No Turns blue { Turns pink
Change

On the basis of above obsérvat; identi
tions, identify A, :
and C. from the following options: AP

[ A=NHCI B =NaCl, C = CH;COONa
2, A=NH,Cl, B = CH;COONa, C = NaCl
3. A= NaCl, B=NH,], C = CH,COONa

4, A= CH;COONa, B = NH,Cl, C = NaCl

':, 22-SAT-ENG-TRY,

84. Do A, B svbaty C o S odne
ISR ONTIN BDWEHD. VB DD 2-3
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. A=NH,CL B=NaCl, C = CH:COONa
2. A=NH,CL B =CHCOONa, C =NaCl
3. A= NaCl, B = NH,CL C = CH,COONa

4. A=CH;COONa, B = NH,Cl, C = NaCl



85.

86.

Match List | (Mixture to be Separated) with the
List 11 (Method Used ) and select the correct

answer using the options given below

List 1 List I}
(Mixture to be (Method Used)
Separated)
A. Liquid N, 1.~ Chromatography

and liquid O, | 11
B. Red and Blue

. Sublimation

H1. Fractional

inks
C. Solution of Distillation
"NaCl in water . .
D. Naphthalene V. Evaporation
and NaCl V. Crystallisation
i, A=l B-ll, C-IV, D=V
2. A-1, B-V, C-~1I, D-IV
3. A=, B-1, C-1V, D-1
4. A1, B~1v, C-1, D-I

Select the cotrect set of statements regarding
change in properties, as we move down the

second group in periodic table.

I.  Atomic size increases.
1. Electro negativity increases.
111. “Tendency to loose clectrons increases.

V. Valency remains same.,

1. I, 1 and I
H, Ul and [V
I, Iand 1V
4. Llland IV

[

Ly
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2.A-Hl, B-V, C-l, D-IV
3.A-1, B-1I, C-1V, D-1I
4, A=11, B-1v, C-1, D-H
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87, Which of the following options containing

formula, bonding and nature of aqueous solution
(in the same order ) is correct for the compound
formed by two elements A and B having atomic

aumbers 1 and 17, respectively?

{. AB, lonic, Acidic
2. AB,, lonic, Basic
3. AB, Covalent, Acidic

4. AB,, Covalent, Neutral
Choose one of the following alternative
statements given below which correctly explains

the process of osmosis.

[. Movement of water from
concentrated to dilute solutions.

regions of

2. The passage of solute from weak solution to

strong  solution through a selectively-

permeable membrane.

%3

A passive transport of a solvent through a
selectively-permeable  membrane from a
region of low solute concentration to a

region of high solute concentration.

4. An energy-dependent transpogt of a solvent
through a selectively-permeable membrane
from a vegion of low solute concentration to

aregion of high solute concentration.
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89.

In meiosis, each of the four daughter cells has one

. set of chromosomes. Due 10 randomness of

90.

91.

process of chromosome separation in meiosis,
large number of chromosome combinations can
form gametes. How many such chromosome
combinations in the gametes are possible in case

of humans, assuming there is 1o crossing-over

taking place?
1. 222
2. 2%
3. 246
4, 2"

Sclerenchyma in plants is an example of simple
permanent tissue comprising of two types of
cells, sclereids and fibres. Why these cells are

functionally important to the plants even after

they die?

Choose the correct alternative from the options
given below.

{. Both are thin walled cells  lacking

intercellular spaces.

9. Walls in both the types of cells are thick and
cutinized.

Walls in both the cell types are thick and
usually lignified.

4. Both the cells are used for conducting
solutes and providing strength to the plant.

[

Whick one of the following organisms has a
cellular respiratory pigment dissolved in plasma
and is also a predaceous carnivore and shows
matriphagy?

1. Scorpion
2. Cockroach
3. Barthworm

4. Sea cucumber
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92, Lichens are SeNSItVE 10 certain air poliutants and

93.

are often replaced by othet plants, Prom the given
options cho0se the best combination of sensitiv‘ity

and replacement of lichens.

i, Sulphur dioxide and moss
2. Sulphur dioxide and algae
3. Carbon dioxide and ferns

4, Sulphur dioxide and grass

A stgxdent was performing an experiment to
understand the enzyme-substrate reaction. The
student” measured the formation of coloured
product using a colorimeter. The student plotted
the graph below which shows the reaction rate
versus the substrate concentration.

1CaCtion rate ———p

- substrate concentration ——

Following interpretation )
s were
Followi drawn by the

A. The higher concentration of substrate acts as
an enzyme inhibitor,

B. it is a sigmoidal curve with sharp transition
from Igw to high reaction rates over the
c Increasing substrate concentration.

;Ih§ curve reaches a plateau and does not
urther increase with increasing substrate
concentrations due to saturation of enzyme
with the substrate. )

Choose which of i
the ati j e
are correct, mtcrpretdﬂqns e gk

L. AandB
2. AandC
3. Bonly

4. BandC
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94, Glucose is the prime source of energy in our
body. However, it is stored in the form of
glycogen in the muscle and liver of animals and
in the form of starch in plants. As a result, every
time a cell requires glucose, it must hydrolyze
glycogen which is.an energy consuming process.
Why does ihe cell store glycogen instead of
glucose in free form? .

1. Glycogen is more compact and more
hydrophilic.

2. Storage of glucose in free form will
consume more ATP.

3. Glucose in the free form creates more
osmotic pressure.

4. Glucose is highly reactive molecule hence
storing in. the free form can result in
unwanted reactions in the cells.

The figure given below is designed to show yeast
respiration. In one of the tubes, there is yeast
. suspension in glucose solution. This solution was
boiled before yeast was added to it. Which one-of
the following is the possible reason for boiling of
sugar solution? - '

95,

O
Glucose

Yeast
suspension

1. To ensure aerobic fermentation.
2. To provide the initial warrnth for the yeast to
. become active.
3. To remove the dissolved oxygen and carbon
dioxide from the sohﬁion.
4. To remove dissolved carbon dioxide and

trap the oxygen from the atmosphere.
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97.

96, A squirrel was eating a fruit on the ground.

Suddenly it was attacked by a dog. The squirrel

rushed to the tree immediately and saved itself

from the dangerous aitack. What immediate

changes are most likely to have taken place in the

body of the squirrel?

A. Blood flows to the stomach for rapid
digestion.

B. Adrenalin was secreted in the blood by the
adrenal glands.

C. Heart beat becomes faster and pumps more

blood so that muscles get more oxygen.

D Adrenocorticotropic hormone is secreted in

the blood and blood flows more towards the
vital organs. é

Select the correct combination of options given

below:

I. AandB_
2.. Aand C
3. BandC
4.0 CandD

Stimulus from the environment is detected by the
nerve cells. The stimulus acquired is transmitted
in the form of clectrical impulse. From the
options given below choose the correct scheme
showing the direction in which the nerve impulse

t« o, ;
ravels. (Arrows shows the direction of impulse
flow).
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98.

99.

“Double fertilization” is a complex mechanism of
flowering plants that is also unique to
angiosperms. Choose the most appropriate
statement from the options listed below that
explains this phenorhenon.

1. Fertilization in two flowers of the same
plant forming endosperms.

2. Two male gametes fertilize two eggs inside

the ovule as a result the ovary gives rise-to

bigger fruits.

Two fertilizations occur in a flower--one

fertilization results in the formation of a

diploid zygote and the second fertilization

results in tbe formation of a triploid

endosperm.

4. Two pollen grains sending two pollen tubes
inside the ovary, resulting in the formation
of two seeds inside the fruit.

%)

It is generally observed that malaria is rampant in
areas where construction work and/or stagnant
water are usually seen. Plasmodium species are
known to cause malaria, The parasite when
injected by the mosquito into the human blood
stream goes through specific life cycle stages.
Select from below the correct sequence of stages.

1.  Mosquito (sporozoites) —» human fiver
(merozoites) —vhuman RBC
(gametes) —mosquito
(zygote-00Cyst-sporozoites)

2. Mosquito (merozoites) ~>human RBC

(gametes) -»> human fiver (sporozoites) —

Mosquito

(0ocyst—zygote—sporozoites)

Mosquito (merozoites) —> human liver

(sporozoites) —+human RBC (gametes) —>

mosquoito

(oocystAzygotemsporozoites)

4. Mosquito (sporozoites) — human liver
(spotozoites) — human RBC
(merozoites) —> Mosquito
(zygote—00Cyst---Sporozoites)

w
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100, A plant with red coloured flowers is crossed with

a plant having white flowers. The red and white
colour of the flower is controlled by a single
gene. Red is dominant over white. The FI
progeny is self-pollinated and the flower colour
in F2 is observed.

Given the above information, what is the
expected phenotypic ratio of plants with different
flower colours?

1. All plants with red flowers.

1S

Red: white in the ratio of 3:1.

Pink: white in the ratio-of 3:1.

w2

4. Red: pink: white in a ratio of 1:2;1.
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